R\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1-.8.dwg, FL-15213.7

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series Fiberglass Door

INSWING / OUTSWING
"IMPACT"

GENERAL NOTES

. This product has been evaluated and is in compliance with the 2010 Florida Building

Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone"
(HVHZ).

. Product anchors shall be as listed and spaced as shown on details. Anchor

embedment to base material shall be beyond wall dressing or stucco.

. When used in areas requiring wind bome debris protection this product complies

with Section 1609.1.2 of the FBC and does not require an impact resistant covering.
This product meets missile level "D" and includes Wind Zone 4 as defined in ASTM
E1996 and Section 1609.1.2.4 of the FBC. The sidelite must be protected with an
impact resistant covering that complies with Section 1609.1.2.

. For 2x stud framing construction, anchoring of these units shall be the same as that

shown for 2x buck masonry construction.

. Site conditions that deviate from the details of this drawing require further

engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

—

Typical elevation, design pressures, & general notes

Door panel details

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

Frame anchoring - 1X buck masonry construction

Astragal details

OV |N|o~ || |wN

—_—

Bill of materials, components & glazing detail

15.25" MAX.

FRAME WIDTH

104.50" MAX. O.A. FRAME WIDTH

74.00" MAX. FRAME WIDTH

82.00" MAX. OVERALL FRAME HEIGHT - INSWING

80.37" MAX. OVERALL FRAME HEIGHT - OUTSWING

INSWING

104.50" x 82.00"

T

7.00" x 63.00"

OUTSWING

104.50" x 80.37"

7.00" x 63.00"

Gl

-50.0

o
n p ~o
d§ §n ¥
gn, 58 N¥
‘E}?_""" [
asf\|*
55_“2&4
Jdg0 50O o
3-2 85 ¢
« 5R® B5Y 2
5‘0‘“3“5\)5
vgéz"ag 0
E— o Y= »
g 9§ .cB65
5028 c
P Roamd g
o B v
TI B
[ )
£ =8
8
w
)
Ly
5 -
Sle] -
=8 24
o).y Eid
n:gﬁ %‘-”
EalS be
oef ] L
<& B &
1%9 3"‘
. s
3 & =
8 g":ﬁ
& g
&
)
=
=)
)
o
%
tul
S
o
=z
foae: 02/16,/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
[orRAWING NO.:
FL—-15213.7

SHEET _1_oF 10

© 2012 R.W. BUILDING CONSULTANTS INC.



I BLMYATNENOG SMNIOTNE MY BLO0E H

SOFCH ON “T'd PHRLUDS ‘4 uopuA) SNOISIAIY
2NN .Mﬂ%@!m@ SWIIA TINVE 8000 A Hvd OIS dn] B g
£186 -off USpozuonny JO spoynLeD Wi D2
BJOBUIBUT [DUSIEESIOL JO PIDOG DDOLIGH AEHASSSY WO Luvd o m I BV
LBLEBSITLE TON SUOU ¥000 SSYTONIaL NERRE
S8SEC 4 OOMIDA 0€Z %08 Ord g@ N 01 SV Sl 1ElElg
"ONI SINVIIASNOD SNIGING . i M B ™ &
1A peubdaiyd SjusWINSOg LONG0H &% m & W b
02
Q
o
L3
Jores
e
(o

Vi
/4

/i
/4

INTERICR

7”2\ VERTICAL CROSS SECTION

gy y

«i? 851 ..Tmm & %w

<8 Dl zsl e R

35 PrETy ¥

1 w 2 ¥ g

” =K VL e ! S8

g : @ 5

&
5
w £
B
=
: 3
B 8
L] R.K
Z 2l
= BS
®
i . 3 st :wm._. R -
S “
O N <
O \\ IS (¥
% & 3
i1 il .
- B\ ¥ L Q =
S B I3 %W
. &z il T 7 =
o =T } eils]
o =B £=lS
a3 &0 a5
o ks AT
mw ?“C i
® L=
L]

(20)

— e

36.75" MAX,
DOOR
PANEL WIDTH

‘i el

e IHOEH TINYd 3000 XYW 508, —=

LT PR -T'ET2ST-1A\0TOT\SBUIMEIG DEMY 'OV 8ST 44\009T - ToST fosd\siapiod 1efoid\sioaloid - vy



TON BLANVATENGD SNIQTUNE A B1O08 §

BOPEY CON ‘R'el IPILYDE ‘4 UOpLA) SNOISIAIY
ot p—g sy SUVI30 TINVA FUTIAIS A8 LN lxle] =S
¢ige o uvopdIuothny 10 ewoynten — Sy s 2
msewbuy [DUCIBEBIOI JO PIDOE DDLIGII CATEBNEASSY MO lavd o M . RAA.M GM
LBIBEET'ELE VON SUOUd M00d SSY1043814 Wx i 2 v 3~
SEEEE M OMIBA QLT ®od ‘O°d \S@ ONE OMAISY A ol 1B1Ele ,w
"ONI SINYLINSNOD SNIGTNG . 9 W sl l2 T H
AR pesndeld BILBLNDOE LONG0NA & m W m %
,.? _
i1
e €
o =
[ 4 Mwm
= 4
- 2
S Sy S 5 T &
Y 2 af
2
[ e
O () ]
= = = =
® N ®
- £

N Rin ._mm:w B
m T <
£J = B
Q B5
i o
/i m . g
[ [ Gyl
= == caf - . ]
z T X (®)
Z a7 o< =
/4 o
a2
]
b
:Oﬂsm Bl
|
f

SIDELITE TOP & BOTTOM BANL

Celular PVC

@)

s B
< w2l
= m =
Xl
575
[N §
&l
=
i i %
o
)
| 5
JE ’ |
Wn m JHDEH O 1T ¥yW 0089
=ge
. m THDEH EBNY 4 3UT0IS YW 6747

L€ 'DMp g -T'ETZST-TA0T0Z\sBuImesd] Hamy "a\L8sT 4d\009T - T0ST [oad\siapiog pafoid\sioefong - vy



RAA - Projects\Project Folders\prof 1501 - 1600\PF 15874D. RWBC Drawings\2010\FL-15213.1-.8.dwg, 4.7

1-1/4" MIN.
EMB. [TYP.)

P
' INTERIOR

EXTERIOR

’ e}

/"1 "\ HORIZONTAL CROSS SECTION
‘\f// Outswing shown - Inswing

also gpproved

INTERIOR

EXTERIOR

f//é\\ HORIZONTAL CROSS $§?§O§‘°§
\\%/} Outswing configuration

NOTE:

I. Sidefite panel secured to the sidelite
frome with {(4) of tem #22 located
107, 30.5" 51" and 71.5" from fop of
eqach jomb and {2} of ferm #22 in
the head ond sil 3" from eqach end

INTERICR

EXTERIOR

/"3 \ HORIZONTAL CROSS SECTION

W Outswing shown - inswing

ciso aoproved

21)

/ &\ HORIZONTAL CROSS SECTION

d
<
N

W inswing configuration

1-1/4" MIN.
EAAB, (TYP]

o\ SEE S
NOTEE RRAEE

\

EXTERIOR |

o 4 iy

75\ HORIZONTAL CROSS SECTION
\\g// Shown wi ¥ sub-buck

0
# ey
& 2m g
, H
O oW E oo ‘:;f
& . P o4
R ]
EQ“‘"" s ) Z
z28a 25 \u
SRR
2 5w B Ry
[ - a2y &
Zom BE 4 2
g 0n Esf~E
S
EQEZ‘E%
55 .eP8 [
Q.—ODU
¢ 2L G g g
¢ Bar g K
g U c
s gL S
E b T
@ & @
fs i
3
3]
]
3
[£5]
=
o
&
B oW
s @
gﬂ w3
=1 IR
e O3 el
ENm O
a8la o
St &
. [ R
5 = o
5 © &
&
gl g~
i o
p
[AR]
L3
=
-
o
[
b
<
[~
o
=
&&YE:GZ/‘F@/?Q
scalk: NUT.S
WG, By 4
CHE. Bn: LFS
DRARMEE WO
FL-15213.7

sueer 4 oF 10

© 2012 RW. Biloing DONBULTANTS MO,



CEINY BAMYATHIYEMOD NI

M EIDE D

EOr e ...ez b .#EF.xow *q uopudT WZOMmm\fMWm
P 2o SNOILOZS SSOMO ToudaA A8 A ONI ] el 519
C196 "oN UORDIOUIMY 0 SIDOIIGD . ~J W b s
E&@E._.mﬂu {DUSEEB 0L 0 DIDOEH BPLIDI4 .I.S‘WI_mzmmm{ Mmo .PW&_{& m *i.” 1 2 ©
LELGEGYTILE UON BUCUy H000 S5V 104G e < £ mm 5m
GEGLE Tld O2MIDA 0T Xog@ O'd \M\m@ ONI OMAISYTd mw BlE g !
DN SLNYLINSNOD SNICHNG . G 4 gy - e &
£g peindelg SUBWASGY LINA0Nd BlR1816 m e
- ("dAL} ‘a3
NIW B
, ‘, e ) P ] [’
R o :
e @ a, =
3 - 2
i "
!
EL o5
Z & w5
£l O w82
o Lo
o k)
22 <! g
~ Ol L oy
Q| = o = g
L= S Wiz
el | 25 = ami i
| i
L = =
el e § 05 mw
Q) will
b, N b
i}
Le
3l (o)
{dAl] awa |
NI LS L
{"dAL} “aw3
NIW LB -1
TG
{dAl)
=]l ANISD
:m_~-o
fa% £ b
Q i O &
E R e ¥
T
zl glg z “8
)2 e
Q) &
de| & LE
DIEY &
ge B
= H{E8 o2
U 2a =i
Sl Y e .m
m M o L
WSy e
== 00 .
o o : ™
m 0 ‘ 4, R mﬁw
a7 e I = ‘s a \\\
fi i ) .
> et _ L .

{"dAL) "an3
NIW B 1

L6 'BMpg-TETZST-1\0T0Z\SBUIMENT DEMY "G\8ST 4d\009T - T0ST (oidisiapiod 10afoid\spefold - vy



RAA - Projects\Project Felders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1- 8.dwg, 6.7

EXTERIOR a INTERIOR
"1\ VERTICAL CROSS SECTION
\\é;/ Outswing shown - inswing
also approved
EXTERIOR INTERIOR
/i
SEE -

wore 1122

£ |
: \-
s D
LA
4 A ‘4
74 “

73\ VERTICAL CROSS SECTION
W Cutswing configuration

1-1/4" MIN.
EMB. (TYP.)

NOTE:

1. Sidelfite panel secured fo the sideliie
frame with {4} of item #22 located
10", 3057 51" and 71.5" fromn fop of
each jamic ond {2} of item #22 in
the head and sill 37 from each end

EXTERIOR INTERIOR
/"2 "\ VERTICAL CROSS SECTION
\\U Shown w/1X sub-buck
INTERIOR EXTERIOR

—@)iore

1-1/4" MIN.
EMB. {TYP.)

1-1/4" MIN.
EMSB. [TYP.)

/& \ VERTICAL CROSS SECTION

\\\é / Inswing configuration

‘;\:‘
1) g g;m
,% %F}Ng
gy £zt 8
= mm
= ~ 2o
JR o
= z
%OG?'SZ
8% £} u
Spe gs-F o
3 %o B .
7] .-gﬁ s
%%“’EV(LE
SR A - AN -
@ s S Loy
'g %éz O '}
5§ 9 ,EF8 w
Ci.—ot)!} =
FRZEfs §
[{+8 [+ A+
g2 <
J g S E X
£ T
H )
P
=3
£3
[+]
8
e
=
<
£ =
)
SE o
= 5 v
vy
3
Al &
L=
(el v QRN
rnSiE ©
Sacm
i by e
vy =
i KU
= x 5
S Sl i
i
[ [
2 %
& a
o
fn
il
=
o
i
i
o
“z
P
1]
4
oaTE: 02/16/12
scate: NLTLS,
D, BY JK
CHE. BY: LFS
DRAWING B
Fl—-15213.7
sHEET & oF 10

© 2012 RW. BuiLDiNg DRMEUFLTANTS JME,



R4 - ProjectsiProject Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1-.8.dwg, 7.7

N ‘:...ﬁ . P ."..-' L
I IR T S

v L7 R e gt 4

AT A "

e 415

et

B

4!!

é“

g

I 4"

. S—

4

C.ord i R T
s e~ :!; 1l §
o 11 >(s) I :
A " ” “E Ie
= T TYP, HEAD & JAMBS ||
i i 1
tH 1 H ﬁz
.y E%\ ! /ﬁa =8
il Il > 2
BUCK ™ i ASTRAGAL & i G
- i MULLIONS it 41—
i SHOWN FOR it
ft REFERENCE f
it ONLY 1
MASONRY ; |
OPENING / | HE y Egg ~
T 1 g; I
A= H I I
i I ’ Hi .
P - .,Ef! .,\ 1
BUCK ANCHORING

CONCRETE ANCHOR NOTES:

71.96"

HINGE JAMB

1. Substitufion of equal concrete anchors from a different supplier may have different edge
disfance and center disfance requlrements.

2. Concrete anchor locatfions at the comers may be adjusted o maintain the min. edge
distance o mortar joints, If concrete anchor locations noted as "MAX, ON CENTER" must be
adjusted o mainfain the min, edge disfance to maortar joinis, addifional concrete anchors
may be required o ensure the "MAX. ON CENTER® dimenstons are not excesdead.

3. Concrete anchor table:

e 14 1-3/4° 2172 3"
ELCG 14 1-1/4° [ 4
ITw 36" 1.1/4° 2-5/8" YTty

& 4

e 3:!

e i
i

b NP

o 8813

hori&i\!

X

P.O. Box 230 Valrico FL. 33585
Lyndon F. Schmidt, P.E. Mo, 434089

BUILDING CONSULTANTS, INC.
Phone Moo 313.852.2187
Florida Board of Professional Enginsers

Certificate Of ?

Ry

Documents Preparad By:

Q.Lﬂ_% P 1
o I }—““ ™
fas i T
] - N2/ I @
/ TYP.HEAD & I
2X | JAMBS I Bl B
BUCK - - i ASTRAGAL  ~ T 3
I N\ SHOWN FOR g
2 i REFERENCE  _ ! 4
FRAME —__| I ONLY a < i
EE if k
— - YOUTSWING I} - o %
MASONRY ' %
OPENING ; 5 i i
. _ ] € Z w3
e =K
i SEE DETAILS =
s V4 T&TA —0
h *; ’ ! I . = i i i n
FRAME ANCHORING ASTRAGAL STRIKE JAMB
Maszonry 2X buck construction
24
i =
DETAIR 1A BETAN §
Ouiswing configuration inswing configuration

27
i
&
LATCH & DEADBOLT DETANL

I/
#
4

L
il
|

©

PLASTPRQ INC.
FIBERGLASS DOOR
PART_OR ASSEMBLY:

PRODUCT:

BUCK & FRAME ANCHORING 2X
BUCK MASONRY CONSTRUCTION

BY

REVISIONGS

NOI DATE

HINGE BETANL

DETARL 2

oeTE: 02 /16/12

SCALE: NLTLS,

WG, BY: JK

OHY, By

LFS

DRARING HO.
FL.-15213.7

shger 7wk 10

@ AT 2 B.W, BURHLDING DONSMULTANTE NG



RAA - ProjectsiProject Folders\prod 1501 - 1600APF 1587\D, RWBC Drawings\20100\FL-15213,1-.8.dwg, 8.7

e

40'7 'I L1
2.44"

71.94"

HINGE JAME

CONCRETE ANCHOR NOTES:

BUCK

FRAME
]

MASONRY
OF’ENii‘ﬂ/

JAMBS

: éSOUTSWENG

_ INSWING

TYP. @ SiLL

i SEE DETAILL 2

|
I

I P, _
E\
{ ASTRAGAL
I SHOWN FOR
1 REFERENCE ONLY] =~
I
I i
i &
%5
I 5
|| SEEDETAILS -5
18 1A
i
EERE i i i
FRAME ANCHORBING

Masonry 14 buck construction

I. Substitution of equad concrete anchors from a different supplier may have different edge
distonce and canter distance requirements.

2. Concrete anchor locations at the comers may be adjusted to maintain the min. edge

distance to mortar joints. if concrete anchor locations noted as "MAX, ON CENTER" must be
adjusted to maintaln the min. edge distance to mortar joints, additional concrete anchors
my be required fo ensurs the "MAX. ON CENTER” dimensions are not exceeded.

3. Concrete onchor fable:

Tw 14"

E“%f B

2.372°

3@9

ITwW T2l s

1-1/4"

2-5/8"

2-1/8

é“

"‘”— 24" MAX Q.C. —WI

DETAL 1

nswing configuration

&
&
2 P
]
B —r
L
ASTRAGAL STRIKE JAMB

DETAIL 1A
Cuswing cordfiguration

DETALL 2

e,
A

HINGE DETAIL
1/
T
29
(27
IATCH & DEADBOLT DETARL

s
o £~
S o
2 §. 38
P ¢ ¥ N"@'
QW En Y
= [+
-
SE® W, § oo
Eh5 .5 | 2
g BgE
Foeac. |u
t.l":ﬁm o«
= o ML oA
. 882 g5 ¢
E A BT I
i1 Q“_.,:,; 5
.ﬂggz o{\)w
5 8%¢2ps v
o e = O
=258 6 e
ERak R G
[N [+ o
g 2 E
B gpm 2
& = P
] D oG
g 28
o]
%]
[x]
£
I x
T O
T Sz
o) S )
: =
3 1 XL
it I st
1S N
C}a.. Z9
0 ¢ 5
o <lo 55
— B O
Uy $3F B
55::&..1 S
ELif ¢ %M
Qoo <2
e Ml e
o & 2%
i Q:E
8 Iyt
& =
i oy
e
o
o
z
o
2]
o
pd
=
£
=
DaTE: 02/ 16/12
SUALE: B.T.S.
DG, BY: JK
CHEL BY: i{FS
DRANING NO.:
Fl—-15213.7

sweET 8o 10

© 2012 R.W. BIILDING DOMNSLLTANTS IMNED.



TEN BANVAHIENOLD BRAHNE MY IO O

JﬁNm?? ON W' IPIURIDS 4 UOPUATY SNOISIAGY
i .
Lz~ SWIIA TOVMISY A8 P o P g
£196 "ON UORDZUOWINY IO SIDDUMED . I 1 1t B
2leoBUT [DUSIBBEIOI, JO PIDOE DRSO ATNASEY MO Juvd Mm - R
LBLE'BSHELE TON BUGYY H000 SsYI1oMdaEH w,m/ Z g X 9_
6858 714 OOMIPA 0£Z %08 ‘O'd \E&@g “ONI OMAiSYTd Sl |E Ele i
DM SINVLINSNOD SNIQTING . i W oy |2 v &
1Ag pesndedyd SUBLINSGA SAONG0NES = W 7 m &
] :N@.m e W
WOLIOF w @
g .
o 9
| o3
o | I
=
A
1o
3 52
N g W W
B -
Ly . B S (3)
O i
T
0 2 ]
pra & 2
2 B o
T &
- ° 5
A.,m
|
@
e
0]
&
L]
1 & B M .w
M..u 5 e
S 3/ Lo e
@ 3 = .
° m m w i) =B :ﬂ_.mug
43 g
2 = e %
L =
59 w w 2| S
5 = AR
2 ; 5 o2
o g0 = 5
& t= %
m 5 =
O < . . Q
£ ;i M
= o
I |
= g
r : I “ =
Q By
0 TR %
o Ll o
< O
2
i
s
~Z
(]
© [ o
L]
«
/ LIl

375"

10.75"
>
J

Ry ENDURA PRODUCTS

275"
175" —=
ALUMINUM £

il

L6 'DMPY-TETZST-H\OTOZ \sBumeIq Damy "a\L8ST 4d\009T - T0ST foud\siapiog 108[014\s108{0dy - w\Y



RiVA - Projects\Project Folders\prod 1501 - 1600\PF 1587\D. RWBC Drawings\20100\FL-15213.1-8.dwg, 10.7

El? e

P.O. Box 230 Valrice FL. 33585
Lyndon F. Schrmidi, P.E. Ne. 434092

BUILBING CONSULTANTS, MG,

Phane MNo.: 813.650.9197
Florida Board of Profeasional Engineers
Cartificate OF Authorization MNo. 8813

Ry

Decuments Preporsd By:

BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL | ITEM | DESCRIPTION MATERIAL
N 1 3/16" X 3-1/2" PFH TW CONCRETE SCREW STEEL 23 | #9 x 2" PFH WOOD SCREW STEEL
O | 3/16" X 1-1/2" PFH [TW CONCRETE SCREW STEEL 24 | FLUSH BOLT STRIKE PLATE STEEL
P |3/14" X 3-1/4" PEH TW CONCRETE SCREW STEEL 25 | TOP RAIL CELLULAR PVC
;| MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE |26 | SIDELITE STILE CELLULAR PVC
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 27 | SIRIKE PLATE STEEL
2 | 1XBUCK SG >=0.55 WOOD 28 | OUTSWING BUMP THRESHOLD ALUM, / WOOD
3 | 2XBUCK 5G >=0.55 WOOD 29 | DEADBOLT STRIKE PLATE STEEL
4 1 1/4" MAX. SHIM SPACE - 30 | SNAP IN LIGHT FRAME ABS
5 11/4"X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL 31 | #9 x 1" PFH WOOD SCREW STEEL
6 | #10x2-172" PFH WOOD SCREW STEEL 32 1 1/4" X 3-3/4" PEH TW CONCRETE SCREW STEEL
7 | 174" x 2-1/4" PFH ITW CONCRETE SCREW STEEL 34 | ASTRAGAL BY ENDURA ALUM.
§ | #9 x 3/4" PFH WOOD SCREW STEEL 344 | BOLT RETAINER PLASTIC
9 | DOOR SKIN [MIN. 0.075" THICK) FIBERGLASS | 34B | SLIDE BOLT ROD STEEL
10 | INSWING VINYL DOOR BOTTOM SWEEP BY ENDURA VINYL 35 | HINGE & LATCH STILE CELLULAR PVC
10A | VINYL DOOR BOTTOM SWEEP #3628 BY HOLM IND. VINYL 36 | HINGE & LATCH STILE REINFORCEMENT LVL
11 | REINFORCEMENT WOOD FOR LOCK WOOD 37 | SIDELITE TOP & BOTTOM RAIL CELLULAR PYC
12 | FINGER JOINTED PINE JAMB WOOD 38 | SHOE MOULD 5/8" x 3/8" WOOD
13 | #9 x 2-1/4" PFH WOOD SCREW STEEL 39 | SIDELITE SPACER PVC
14 | BOTIOM RAIL CELLULAR PVC | 43 | 1/4" x 2-3/4" PFH TW CONCRETE SCREW STEEL
15 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. ] WOOD | 44 | GLAZING SPACER ALUM,
154 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM.  WOOD | 45 | SEALANT SILCONE
16 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM 46 | GLAZIING COMPOUND SILCONE
16A | COMPRESSION WEATHER STRIP GLON 650 BY SCHLEGEL FOAM 50 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS .
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL 40 | SIDELITE PANEL - SEE DOOR PANEL DETAIL SHEET 3 -
18 | KWIKSET DEADBOLT - SIGNATURE SERIES {780) STEEL
19 | SIDELITE STILE REINFORCEMENT WOOD
20 | POLYURETHANE FOAM BY NANYA POLYURETHANE a5 . 5 .
21 14" x 4" BUTT HINGE STEEL ' - $ @
22 | #8 x 2" PFH WOOD SCREW STEEL %
50" GLASS BITE 3
1.0007 NOM. —1 % %
GLASS THK.
1/8" TEMP. )
/ GLASS g
AR & | 237
o sPacE

T OPTIONAL

SFACE

1/8" TEMP.
GLASS

GLATING DETAL

G

\ DECORATIVE INSERT
AR

20 SIDELITE SPACER

1.37"

i«w 456" i

ADJUSTABLE INSWING SiLL

154

—o-»l 137" e

o ADJUSTABLE INSWING SILL

PLASTPRO INC.
FIBERGIASS DOOR

BILL OF MATERIALS, COMPONENTS
& GLAZING DETAIL

5
£
-
[*Y}
5 G
1741
. <«
ks 14
§ ]
S &
4 <
& [+
o
o
0
=
o
4
"
o
b
S
o
4
pate: 02/16/12

ScME MNUTS.

owe. BY: JE

CHEL By LFS

DRAWIG RO
FL-15213.7

seesy 10 oF 10

@ Bt ROW. BULDING OONSULTAMTS NG,



